/ 6 S 4 3

3082 1548

, 2140 ®451.2 ®557.2

H H H X 8 « F H ol - 5 i F
_ 5 # IIJ/W #
; }‘—---? & © ]
N > ! - = — ~
|-|= T [ E[----- S E

6236

215

650
2728
= [ 210
TYP
i . — ——
(@}
O
] n
| 3 D
T =
| S ola
TTTTT_TT TT TTeTJI —
IN[=
ML m )L
[e0]
5 ololo
— | b i b o 0
0]0101010]CHl!
ololelele
H | o o Do o P |l H
0]0]10]0]0 C
o i B . [ |
I [bjeletslele
0]0]010 i
i gy Qi
o
81_ It v ‘==@ 8 | ——
i ————
N ; Al
240 PN
— 240 >
NG.PROJ.: . B
" 6 QH;QMGL—G’HSH £
IELORANCE: ég %?Zi‘zﬂeloa e C\oss kf i
I'I LJ Ll I'I - “'
H ke e lOADL QW 3
1710 kg e e { pls  colyaw)
2937 NAME SIGNATURE DATE TITLE: A
Document Type:  Assem Bag Filter 6x9
DRAWN M.H.lzadi
CHECKED | M.S.Arabnejad PARTNO.. BF-01-00
QTY.
APPROVED| A.Anjomshoa Document ID:
Revision: REF. Document ID: A
Revision Date: Material: - Record ID:
Classification: WEIGHT: 3543.0 Kg Scale:  1:100 Sheet: 1 of 61 | Size: A3

/ 6 S 4 3 2 ]



o P
T S Y

I T

-

L

s,
i I o

ITEM NO. PART NUMBER PART NAME WEIGHT(KG) MATERIAL QTY.
1 BF-01-01-00 Bag filter main body 1547.0 - 1
DETAIL H 2 BF-01-02-00 Bag filter dust hopper 757.9 - 1
SCALET:10 3 BE-01-03-00 Bag filter clean gas 739 5 B .
D chamber ) D
4 BF-01-04-00 Bag filter air lock 17.1 - 2
5 BF-01-05-00 Bag filter chute 38.6 --
6 BF-01-06-00 Bag filter bags 4.0 -- 54
Bag filter retaining
7 BF-01-07-00 cage 2.0 -- 54
8 BF-01-08-00 Venturi 0.9 -- 54
A1.M0. Bag filter bags holder
9 BF-01-09-00 plate 01 0.94 ST37 40
10 BF-01-10-00 Bag filter bags holder | 47 $T37 26
plate 02
C 11 BF-01-11-00 Bolt-Din?33-M16x50-8.8 0.0 - 96 C
’ 12 BF-01-12-00 Nut-Din934-M16 5.42 -- 96
Spring washer-Din128-
/ 14 BF-01-14-00 Bolt-Din?33-M12x40-8.8 0.0 - 36
i 15 BF-01-15-00 Nut-Din934-M12 0.00 -- 36
Spring washer-Din128-
16 BF-01-16-00 A12-FST 0.0 - 36
DETAILK }
SCALE1:10 17 BF-01-17-00 Nut-Din934-M10 0.0 -- 66
§ ANG.PROJ.: 6 . . - B
. ul—o ; QLN—N_ &L—@ L )—f
|
| , UNIT: mm, kg { PI—: E‘-"L&-“'Tl
i f SIGNATURE DATE TITLE: .
! _ Document Type: ~ Assem BOg Filter 6x9
m I DRAWN M.H.lzadi
' CHECKED | M.S.Arabnejad PARTNO.: BF-01-00
QTY.! s
APPROVED| A.Anjomshoa Document ID:
Revision: REF. Document ID:
A DETAIL | Revision Date: Material: -~ Record ID: A
SCALET:30 Classification: WEIGHT: 3543.0 Kg Scale:  1:100 Sheet: 2 of 61 | Size: A3

38 / 6 S 4 3 2 ]



